SEAE HEXRH B EZ A& 023FEEARABRE fm & 2022FEEASAER
5 3 BT (T = P =+ P e
X lumxs | w5 wmowmoxn| S| 2 (2R RER seas - zoe |(BR-FRER -\ B B S AR enm mzeE| B | B |
*RE 5% E | E X|X| 2 @2 sommmonmsecs | NRXEH - BE) DR 5 | B 5 D epnwa 2om |8 | B | T
8 | 8 |5 n| X kg zTineees (ERELRE) - T DAt £l =] = |#% B ’ ’ £ # ES
g | «F-s44Iva | 80[ 10 k3200 LT, B| EE - REYR=T—% )
358 1 FA v RFR GRGEET)
ze 340| 25 BT L R LT 2 b (] - 2%, 32 27] 1.2
GE) R EER O HE | 59043
BE | BE 250 20 BEH2%D S B, | GE) EMCSEL9S04, TO 2% 20| 1.3
G = 54 1374 % % 32 | EFL-iBT424, TOEIC L| 11.1
AT F s | — iR | & F3ES 340| 25| % | #|3.2] % | B &R » S&W1150:5, GTEC| v |11.27] 125 [ 12.16 2 21 1.0
e 960 L1 1 > 47 FERs #1226 [ 1.7
R 55 -8 ERER | ERERIFR 140/ 10 T 2 bOFTERRL, 19 15| 1.3
$xfazazr-vav | 140| 10 (455) DA ET B 22| 19| 1.2
HHARE | HiAlE 145| 25 R[] = 32« BEshR < 10 9 11




